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688 + 16 =43 = 6.88 + 16



J
ol

J
%
<}
il

o_e
&
H_OL
Tor

ﬂmo

ol
fies
™

<
Xfo
<
i
ol

o

o |00

© | b~

<t |

— |©



ZRRE

1

@ 12+5:12><5

1

+2=2x—
5

@ 5

< l— S I~

X

— [

D 3+4=3x
® 7+2=7x

® 5+9



5. o= %ol 1EH 22 YAl o= AdU7

® 135+3 @ 18+3 ® 87+6

@ 348 -8 ® 12.5 =12



6.

24 0]d] 7452 5HEo] 4700 mL o] B2 upAlchT
ofo] B9 ntAltty shufj, 6 Y E] 8 Q7HA] npA=
L}IA] A 2

1 R L

ek, o
2o e %

ONI m:]_‘

%& rlo






ANz AL ol Yolshos em? of o, A Rzl

m2 01147]].‘7

| =

| N |
@ 1% cm? ) 2224 cm? ® 3% cm?
@ 4-—cm? ® 5— cm?



